OMB.1845.0049.v.6 Table.10.14.10		TEAM I				
Respondent Type	Requirement	# of Respondents	# of Responses	Hours/Response	Total Hours	Description
Section A: Burden by Affected Entity						
Federal Government						
Individuals or Households						
Test administrators	668.150(b)(2)	3,774	3,774	0.17	642	Reporting
ATB test takers with disabilities	34 CFR 668.150(b)(17)	57,812	57,812	0.08	4,625	Reporting
Sub-total		61,586	61,586		5,267	7
Private Sector						
Business or other for-profits						
For-profit test publishers	34 CFR 668.144(c)(16) & (d)(7)	8	8	2.5	20	Reporting
For-profit test publishers	34 CFR 668.144(c)(17) & (d)(8)	8	8	75	600	Reporting
For-profit test publishers	34 CFR 668.144(c)(18) & (d)(9)	8	8			Reporting
For-profit test publishers	34 CFR 668.150(b)(2)	8	8	1	8	Reporting
For-profit test publishers	34 CFR 668.150(b)(2)	3,774	3,774	0.08	302	Reporting
For-profit test publishers	34 CFR 668.150(b)(6)	38	38	1	38	Reporting
Test publishers development process to determine improper test administration	34 CFR 668.150(b)(7)(i)	8	8	5	40	Reporting
Immediate notification to ATB tests takers of possible improper testing	34 CFR 668.150(b)(7)(ii)	4,818	4,818	0.25	1,205	Reporting
Report to Dept on results of improper testing review	34 CFR 668.150(b)(7)(iii)	4,818	4,818	0.33	1,590	Reporting
For-profit test publishers	34 CFR 668.150(b)(8)	1	1	1	1	Reporting
For-profit test publishers	34 CFR 668.150(b)(13)	8	8	75	600	Reporting
For-profit test publishers	34 CFR 668.150(b)(15)	482	482	1	482	Reporting
For-profit test publishers	34 CFR 668.150(b)(16)	482	482	1	482	Reporting
For-profit test publishers	34 CFR 668.150(b)(17)	8	8	2	16	Reporting
Proprietary institutions - individuals with disabilities	34 CFR 668.151(g)(4)	173,445	173,445	0.08	13,876	Recordkeeping

Proprietary institutions - individuals with disabilities	34 CFR 668.151(g)(5)	20,812	20,812	0.08	1,665	Recordkeeping
Sub-total		208,726	208,726		20,933	
Not-for profits						
Private not for profits - individuals with	34 CFR					
disabilities	668.151(g)(4)	149,347	149,347	0.08	11,948	Recordkeeping
Private not for profits - individuals with disabilities	34 CFR 668.151(g)(5)	17,922	17,922	0.08	1,434	Recordkeeping
Private not for profits - administration by assessment centers	34 CFR 668.152	226	226	0.08 hrs *52 wks	940	Recordkeeping
Sub-total		167,495	167,495		14,322	
Total Private Sector		376,221	376,221		35,255	
State, Local, or Tribal Governments						
	34 CFR					
Public institutions	668.151(g)(4)	158,962	158,962	0.08	12,717	Recordkeeping
Public institutions	34 CFR 668.151(g)(5)	19,078	19,078	0.08	1.526	Recordkeeping
Public institutions administration by assessment	000.202(9)(0)	20,0.0	20,0.0	0.00		i todorantooping
centers	34 CFR 668.152	1,030	1,030	0.08 hrs *52 wks	4,285	Recordkeeping
Sub-total		179,070	179,070		18,528	
Section A: Burden by Affected Entity						
Total		616,877	616,877		59,050	
Section B: Burden Impact						
CURRENT INVENTORY						
Current # of Respondents		1,165				
Current # of Responses			360,010			
Current Inventory of Hours					181,110	
REVISED # OF RESPONDENTS		616,877				
REVISED # OF RESPONSES			616,877			
REVISED # OF BURDEN HOURS					59,050	
TOTAL # RESPONDENTS		618,042				
TOTAL # RESPONSES			976,887			
TOTAL # HOURS					240,160	
Difference		616,877	616,877		59,050	
Section C: Burden by Regulation Group						
<u> </u>		-				

1. 34 CFR 668.144 Application for test approval						
Individuals						
Private Sector						
Business or other For-Profits						
For-profit test publishers	34 CFR 668.144(c)(16) & (d)(7)	8	8	2.5	20	Reporting
For-profit test publishers	34 CFR 668.144(c)(17) & (d)(8)	8	8	75	600	Reporting
For-profit test publishers	34 CFR 668.144(c)(18) & (d)(9)	8	8	1	8	Reporting
TOTAL for 34 CFR 668.144		24	24		628	
2. 34 CFR 668.150 Agreement Individuals						
Test administrators	34 CFR 668.150 (b)(2)	3,774	3,774	0.17	642	Reporting
Test administrators report the nature of disabled test taker and any accommodations provided  Private Sector	34 CFR 668.150(b)(17)	57,812	57,812	0.08	4,625	Reporting
Business or other for-profits						
Business of other for-profits	34 CFR 668.150					
Process development	(b)(2)	8	8	1	8	Reporting
Review of submitted certifications	34 CFR 668.150 (b)(2)	3,774	3,774	0.08	302	Reporting
Notification of when a decertification occurs	34 CFR 668.150(b)(6)	38	38	1	38	Reporting
Test publishers dev. Process to determine improper test administration	34 CFR 668.150(b)(7)(i)	8	8	5	40	Reporting
Immediate notification to ATB test takers of possible improper testing	34 CFR 668.150(b)(7)(ii)	4,818	4,818	0.25	1,205	Reporting
Report to Dept on results of improper testing review	34 CFR 668.150(b)(7)(iii)	4,818	4,818	0.33	1,590	Reporting
Re-certification after 3 yr waiting period	34 CFR 668.150(b)(8)	1	1	1	1	Reporting
Test anomoly study each 18 month period	34 CFR 668.150(b)(13)	8	8	75	600	Reporting
Report to Sec credible info on compromise of ATB tests	34 CFR 668.150(b)(15)	482	482	1	482	Reporting
Report to OIG any credible info on fraud	34 CFR 668.150(b)(16)	482	482	1	482	Reporting
Test publishers develop process for test administrators to report the nature of test takers disability	34 CFR 668.150(b)(17)	8	8	2	16	Reporting

Not-for profits						
State, Local, or Tribal Governments						
, ,						
TOTAL for 34 CFR 668.150		76,031	76,031		10,031	
3. 34 CFR 668.151 Administration of tests						
Individuals						
Borrowers						
Private Sector						
Business or other for-profits						
Proprietary institutions - collection of the test administrator name and identifiers	34 CFR 668.151(g)(4)	173,445	173,445	0.08	13,876	Recordkeeping
Proprietary institutions - collection documentation of the test takers disability	34 CFR 668.151(g)(5)	20,812	20,812	0.08	1,665	Recordkeeping
Not-for profits						
Private not for profit institutions - collection of the test administrator name and identifiers	34 CFR 668.151(g)(4)	149,347	149,347	0.08	11,948	Recordkeeping
Private not for profit institutions - collection documentation of the test takers disability	34 CFR 668.151(g)(5)	17,922	17,922	0.08	1,434	Recordkeeping
State, Local, or Tribal Governments						
Public institutions - collection of the test administrator name and identifiers	34 CFR 668.151(g)(4)	158,962	158,962	0.08	12,717	Recordkeeping
Public institutions - collection documentation of the test takers disability	34 CFR 668.151(g)(5)	19,078	19,078	0.08	1,526	Recordkeeping
TOTAL for 34 CFR 668.151		539,566	539,566		43,166	
4. 34 CFR 668.152 Admin of tests by assessment centers						
Individuals						
Borrowers						
Private Sector						
Business or other for-profits						
Not-for profits						
Private not for profit institutions - reporting of test scores and test administrator identifiers	34 CFR 668.152	226	226	*.08 hrs * 52 weeks	940	Recordkeeping
Private not for profit institutions - collection documentation of the test takers disability						
State, Local, or Tribal Governments						
Public institutions - reporting of test scores and test administrator identifiers	34 CFR 668.152	1,030	1,030	*.08 hrs * 52 weeks	4,285	Recordkeeping
TOTAL for 34 CFR 668.152		1,256	1,256		5,225	
GRAND TOTAL		616,877	616,877		59,050	